31 16 68
11
PEC 2 30 15
63
Vw m?
_ (m¥9)x86,400 (seC)xTe - 3.7 (m3/s)x86,400 (sec)xTe
1mex  11m%3m%) 3.7m3
3m?
11m?
Ve m?
2000 - 3000
7500mx1/2 > 16m>=< 0.05m 3000m3
63 PEC
PEC

(  PEC 0.011 pig/L — 0.0088 pg/L)




3987

31

16

68

14

10

13




31 16 68
= 11(m¥/s)x<
= 3(m¥/s)><
M. «—M
PE ] — runoff se_runoff
Cre = 11 86400 T,
M, —M
PE ] — Dr se Dr
Crz =3, 86400xT,
PECrier2 g/m?
Mrunoff g
Mse_runoff g
Mor
Mse pr g
Te day



31 16

68

M

R
u_measured
I X—X AIJ X fu

runoff = 100

M it =Moot ¥ KKOC:(;T({;O(L:SE T

Mg, = x% Z iver % Nrige

Mg or = Moy X K;’COXC ojiec{cl)gcij p:e vX Vj-ev

oc e e * W

|
Ru_messured
A, ha
fu
Driver_measured
- 1 ha/day
Narift hid
m cm/g
e g/em?®
OCse K
Vw m
Vee m

PECrier2deg = PECriers X e

%

g/ha

%



31 16

68

PECrier2 deg g/m?3
k 1/day
2
A, ha 375
Driver_measured %0
Zive halday 0.12 0.6
Narift  day Te 1
Ru messured %0
Vw md 13.7 (m3/s)x86,400 (sec)xTe
Ve m3 20003000
pse glcm? 1.0
0Ce % 12
- 0.1 0.3
1 1
ha 750 750
km 7.5 7.5
% 5 5
ha 375 375
day 5 1
75 375
m




31 16 68
PEC
63
PEC
PEC
PEC
PEC
PEC
PEC
PEC
/
g/ha
( 3,500
1g/mL
Dri ver_measured
50 - 1.12
%
700mL/10a Zriver 1
0.12
1,000 ha/day
10a N, d 4
ri a
700L e Y
/ Ruimeasured
%
A ha
ﬁ/ -
Koc cm*/g 10,126
Te day 4




31

16

68

PEC

P EC Tier2

0.00880-64% pag/L

PEC

PEC

0.00886-04% pag/L




31 16

68
LCso  ECso
96hLCs, 769 g/l
48hECs, 0.11 pg/L
96hLCs 0.66 pag/L
72hErCsy, 1,240 g/l
72hErCs, 868 19/L
AECT i LCs, 769pug/L
10 76.9pa9/L
V' ECy * ECso
0.207pg/L
(AECd) 0.207p0/L
10 0.0207pag/L
AECa ErCs, 868jag/L
868g/L
AECd 0.020p9/L
PEC  0.00880-011jag/L 0.020pag/L
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